SuMPO EPD SUMPORIESANINTOI S L

SE"MI':’;’D - — R EE AT AT T IR S A e
.. e gafj’miﬁiﬁﬁg (EPD) HEREHBTREXAHET-14-8
VERIFIED KANDA SQUARE GATE

EEES ¢ JR-AI-25099E https://ecoleaf-label jp

FUJIFILM

Value from Innovation

BEITAIAL EYRA A/N-V3 %R
FUJIFILM Business Innovation Corp.

A3 E/ ODOEEH

A3 Monochrome Multifunction Printer

Apeos 3561 (Model-CPS) (for CN)

FUJIFILM

Apeos. Apeos 07\ ApeosPro. ApeosPort . LU ApeosPrint (. EEIAIVAEIRZL IR-3 KRS OB REIEEZEEIETY,

HEHA EHRES JR-AI-25099E
o1 sy EFAPCRES  PA-590000-Al-08
PCR% CIEUN=pal: 253
HEX SRR NI 20254108108
W& L RELE1EH 2025498 24H
ORMERE QEE @il OfFR - R RILA YATLRREEA R
®FZE-UY1II RILES 2025-FB-EL-034
tRIEBE#HAR 2030498 23H
HEOBN, TELK-F#Ex PCRLEI-DEE
B : Apeos 3561 (Model-CPS) REBSE 2023%F 978 1H
FESER  B/I0EEE EPAR) ZER il g2
ENRIRE @ £/70 35ppm (A4 LEF) (IR — Mt EiE AT AT F IR E HEAE M)
BAAMBYIZ 1 A3, 11x17" E=FHIRALE B ST
TUVR/AC—/A% Y SNEBIREEE

T EEN R EE/ADF(RTE B #hFAH)
ISO14025(ZHE 2= AT E R UT - DI LFAREE
ORER W AEB
*YAT LRI R I FBEERNORIEDBE . VAT LRI 2T EEEED
ZEEDH,
Buehtse BEIMIVAESHRAALIR—3a>kRaett
EEMAXAHREHFSUV6THIE

https://www.fujifilm.com/fb/

Z5&ES ¢ JR-AI-25099E



SUMPOEIESANINTOI T A

SuMPO

EPD SILLSHO D R B AR T NS
o .O 14T NBEZE (EPD) HRHTRERAMET-14-8

RUE SR I=tS KANDA SQUARE GATE
BHRES JR-AI-25099E https://ecoleaf-label jp
17919 VLM R

FREEER | WESE | Ak Efﬁ'gﬁ e

SREZE - A5 kg-COeq | 3.52E+02 2.71E+01 7.64E+01 1.46E+02 7.47E+01
AV B IE kg-CFC-11eq |  3.21E-05 5.51E-08 2.29E-08 3.65E-06 1.48E-08
EHEL kg-PO.*-eq |  1.28E-02 3.83E-04 1.46E-04 4.57E-03 7.69E-05
B kg-SOzeq 1.09E+00 1.65E-01 1.14E-01 5.71E-01 7.54E-02
KA BEAFIIYN kg-CHeeq |  7.39E-03 9.00E-05 7.68E-04 1.37E-03 5.56E-04
FEYEEES - 1 kg-Sbeq 5.13E-01 9.48E-05 1.09E-05 3.15E-02 1.41E-05

F1TH1I WA IRY M) 5 TrBIEB R
—REROERMICEET B3R

FREEER | WESE | ank Efﬁ'gﬁ BEEL
BAATRE—REIR - IRILF- (RPRY) M) 8.18E+02 2.02E+02 7.87E+00 5.71E+02 3.16E+01
BAARE—RER - IRLF-28#E (RPRy) M) 1.66E+01 1.70E+02 1.96E+02 6.55E+02 6.03E-03
EBAETRE—REE - TRIE- (NRPRp) MJ 5.94E+03 8.56E+02 8.58E+02 3.07E+03 3.65E+02
FEBLEARE—RER - IRF-EHME (NRPRy,) M) 1.03E+03 2.98E+00 2.77E+00 2.14E+02 8.06E-02
KKDEEE m? 3.15E+00 1.79E+01 2.06E+01 6.92E+01 5.68E-03
HERREICEIT2EMIER
-hEEAREFEELTEELELE,
EEHEEPAR)DIZEYFUATEELTVET,
- B R OEE RIS ERTT,
(EA - SRR CHB I ZENRIBRO B WIS ENE A,
(FERABOEAIE. IRINF-RI-T0T5 LVer3 284 (A >TCAE LETECEE TTICEE LELE,
-RBTEENRIMEL S, 182,4004KTY,
1/4x32 (Y3F/B)x 19 (#) x 5 (B) x4 (B) x 12 (v B) x 5 (4F) = 182,400%
ZOtDIRERIEIFER
TR LY ECRET 2B S EEMEICEAT 31ER
7H-9E (ERZS) B 15H CAS No. ERE
EEpLeki] 23 kg - - -
Sus 0.16 kg - - -
PIVIZUL 0.53 kg
Z20MERE 40 kg ERLEZRT-9DEZH
T5AFI 25 kg REAIIL, LCIT-59R-ZIDEA Ver3.4, SUMPOBRIESNI TOY5 L& $FT -4
A 0.25 kg Ver1.16EfEALTVET,
A2 14 kg
- A 11 kg eSS
L[ AR 0.87 kg -
EHRER S 28 kg
Z0ft 18 kg

OT-FEENHEE. PCRELUVETE - EERBEESBLTEI,
OLLEIIOWTE, B EEMRBICHREINLRGEHLLULSEICLIRHONEEA,
(B H5URL : https://ecoleaf-label.,jp/regulation/)



